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1. (14%) RAER (limit) :
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Solution:
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3. (40%) KAx% (integral) :
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Solution:
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4. (10%)

(a) Keehét r = cosh & r =1 — cos ZPTH X,
Solution:
cos =1 —cost = cos =

1

Lo

2 =
HEBE (L D), AuBToRBAT

||
ool:\

(b) KRAEHE r = cosf ZA3E, Ak (cardioid) r = 1 — cos ) ZIMIREG 3%,
AR,

Solution:
A= fog cos? 0 — (1 — cos 6)2d0.
= fO%(QCOSQ —1)df = 2sinf — 0|3 = /3 —

coly

5. (10%) K4k 25 +y3 =1 24K,

Solution:
x = cos® 0

{ y:SiHS(g 796 [07271-]

dz — _3cos?fsinb.
dy

= 3sin’f cos b.

ds = 3| cos O sin 6|df

5= s =4 [\ (55 + (eas

=12 [ 7 cosOsinfdf = 6 [? sin20df = —3cos26|¢ =3 +3 =6

. (10%) A& R B y = 1+sinz, 0 <o <27, LTH A o-d0 LA gES 4 R
Y y-da AR R R AL A T

M

f 2rx(1 4 sinz)de == 27 (% — z coswsina|2T) = dn*(m — 1)

. (10%) &7 #2 (differential equation) :

d .
sec T ﬁ = eVt re(-5,%).
y(0) =0

Solution:

Ik j—g = [cosxe™¥dy = —e ¥ = 7" 4 C.

AE y0)=0,% -1=C+1=C=-2

= —¢ Y = 6sinac — 2= Y= _esinaz + 2 = —y = ln(2 _ esinx)
=y = —In(2 — 7).



